AKBRENBINBEE FBRPFRE

Az|  em +8 +3 SIES s 2 T P N ER T B e 3
112/1/3 (=)| & #4 YR ] L3 44 PR ki iF JE=[5.5]09] 1| 2 |2.4] 726

112/1/4 (Z)|  #% RS it 3 Eyesg | x| 05 |09 12321 70

2198 112/1/5 (2)] # ¥4 i M E t e E v R 53[1.4| 0 | 2.1]2.2] 663
112/1/6 (1)|  #f & B 4% rER L Ry 3 55(1.4] 0 | 2.3]2.1| 687

112/1/7 (#)| st 4= P F XL ) Rk S TR T 5408 0 | 1.6]2.2| 617

112/1/9 (=)| & # 4 § F X1 5O FFRE ES 5.80.8| 0 | 2.2]2.4]| 699

112/1/10 (=) #4 42 P o e R N 3= R ES F P4 B T kx| 5 (08| 1 |22|22] 694
B0 112/1/11 (2)] - fasw <k 4k P D s | 5 |12 1| 2 [2.1] 7245
112/1/12 (2 )| Ri=4 h BRESE FoWREF fad B8 F 53106/ 0| 2 [22] 635
112/1/13 ()|  #t 4 5O Ry Y $ it T EF S P 5 1.8 0 | 2 |2.1| 627
A E R ECASEE R » 2@ EHIEREAEFS ° SHRTEFTY A

N
3iz e
a J/
R T —— : —

Py Ca

Q"

b °_oO
BEEEALRS EARSEE ERE hIB NS
12 N08E A NEEE - 0B B9HRER - HIE04F

HEZDEL W~ LIGEEE i~ ET)F




R A RIANIRIE B LR -8 TR
— . P e A BT S o g
h%_]z,%uz H-Hi: | E:8~ F:: 2ls 35 5% % i R S PR S oy | EX
2 726

= 112/1/3 (= )| $&: K ERs WE«5&: BF:*1 W &38| B S B E R IL: B INZE:has| 5.5
112/1/4 ()| 45:8: =4 i e 8TV IRIR wEEEEGS: | 3emt | b

19 112/1/5 (= )| FeZEERS | WD lR-T0 FiIRIR | B EORR | B m 5.3

112/1/6 () | BN EVEGR: | [-F st | B BN R SR 5.5

et

112/1/7 (=) Bol:FoR: A IEF s A = 2 F0E:P KT 5. 4

HJ
\11-
=

= 112/1/9 (=) | BEERCR | B | B BB | T 5.8

et

% ||| a
% | % [ | % [
2= ==

112/1/10 (=) TR ERIE | EeRKeFEr BRI BRESER| (TR e IKLERE 5

20 112/1/11 (=2)| 45:8: Ko i5: Bs. FIRAME RIS Femms | b

— ol |lOo|lolo|l~r|l—|lo|lo
Wl ™D ||| ||| O
o |lo ||l |lolo|lo|lo|l—|H—
DO | —
DO | o
— DN | = DD —= DD
>»
k.
|

112/1/12 (‘l“) %’:_\1:5@&5 éi'ﬁ*ggﬁg II;/*E« EEo ”i%;%i ﬁ *% I]* ; = MsE;mH_E;%
112/1/13 () *EZ*TV?EEE\ ?%gimgﬁg LRI g L | B8 ST 5 %gﬁﬁégg?—gg%i 5

Ca
)© 0O

BB R BEHIG EXEPENtE
NEEE - 10T B9HRER > HIR0F
W~ BIGHEF ah -~ EEBF

B E KRS
engeEA
WEZDEL

LINE R HehnfEEE



AERER/NBINBETE—2Y  F19E FREAESER

TfEGEE 42,440 P H 8488 PEESASH 37
Hi 1H2H(—) 3| 1A3H(E) Hi| 1H4H(=) EI 1HSHEY) Hi| LH6H ) L] 1HTHGS)
5 [AH 1916(1881+%35) A 1916(1881+%35) A 1916(1881+#35) A 1916(1881+%35) A 2305(2270+335) A 2338(2302+336)
a1 & 0 arat] 24,000 it 0 a3t 18,440 &iit] 0 it ] 0
ER SR ES R ER Ea R ER ES FoRER Ef ERER
R jEv%) BEK | | G0 | B j=vz) BEK | FE| 40 | j5%%) BUEK | B | 4 |4 Bt BEK | B 4af | w6 j5v%) HEK | BE | G | jEv%) HEK | BE
re HEKER 8KG
AR AHE 2400 ESL B 45 R 180 AT 144 TR E 1320
EREQ 55 KAFQ 76 BB LRQ 70 0 0 0
FEEAMUAHE A fifED-Q 25 FFEEEQ 20 FEEEQ 15 ARHEELQ 20 0
e = |BFCAS 15 i 4LEEEIQ 10 & |4rE%iQ 10 P 4LEEEIQ 12 0
R o Ll o ey, 4 ’ "
x 4 VORCH8L(GE 6 B | EoRRICAS(H 15 SH | ZEYYHASAG 5 = | EEED-Q 40 0
* + | ML 8 F \armeEiQ 10 WET 2 o + 0 0 o
1 L T TR K 5 ] A 0 of o
0 of o0
0 of o
0 of o0
105 lal 153 HEEEQ 105 VR 120 0
48 LkEEE 50 FOREEBRQ 55 VIR HE 118 B EERQ 4800
20 FEEEQ 25 ST (4 30 S 30 FORHICAS(HR 30 0
20 ay [ALEEEIQ 10 A HEFED-Q 18 oy | REEQ 12 75 | 4THQ 10 0
5 10 S [l 7 2 5711 600G 3 = |4EEQ 10 f’; 0 o o
Ed 1.5 1o = A B 1.5 b
7 % i
SIS AEEK 3 E 0 o 0
0 of o0
0 of o
0 of o0
AR 130 EEl G RiiE 130 ERFIAE 128 ARELHE 128 0
" |z | .
- e | TR 15 i [E& L5 e SR L5 | B 2l 0
z * # 7 H 0 of o0
%ﬁ JH 7 o 0 0 0
0 of o
TIE4.3KCH 15 EIZEEIQ 55 PEFEAR3K 4 AIZECAS 8 ST (2 69 0
BRIOK (4 2 BEET 15 A (R 8 &7 4% 24 [EEES S 18 0
454 A 600G 3 H (a7 BEE600G 2 L] 12 e 14 ¥ | RE400CC 130
5 0 Gl e 12 5 %% 12 B = poskat 1 o
5 w ot - 6 KE % :KEWTQ oy (&1
an = = ZHEETR 2 4% = 4LEEEQ 12 Sk 0 0 0
5 AR NLES 0.3 Sefa)7 600G 3 = 0 o 0
0 of o0
0 of o
H HEEHERD NS 240043 10| 24000 0 0| 2305f3| 8] 18440
fit || EahE(s0K)
Eval [7E E) e Ei) [7r E 7S Eai) 7R E G
B EREY(7)) 5 Fedn 5.5 il Fadn 5 il FEdD 53 [ FedD 55 t FEdn 54
= BEF() I ) 09 G ) 0.9 G ) 14 % ) 14 % ) 08
S| R AKER((53) B | R JKE) 1 | B EE() 1 | % KB fn | # KE() I # KB
| & FEAED) | & TANED 2 B | & A 23 | & EXACEAG)) 2.1 n | & E3 L)) 23 % 8| SEAE®D 16
* SHIBS (1) 1 = 10)) 24 I SHPE) 2.1 I SHIS(3) 22 1 SHIFE(7) 2.1 I =) 2.2
GEBG KE G 16K+ s 740K+F g 663K s 68TRF e 617K F
LR 3 ERRFRE ifE: RE




0 RERRIE/INE 11 1 R R — B 551048
S LH2H() Sh LA3H(C) ah LA4H(Z) 5 1 H5H () = 1 H6H (F) i 1HTEGY)
o B 38 I 38 N 38 N 38 3 38 B SLA
a1 &k o a3k 0 a3k 0 a3k o0 a3k o &3t o
EE KR EE kR EE B Et HEH Et Bk e 0
2 att HEKER att EKER att EKER ait HEKER &t WEKEH  aM e
ZEARAE 50.0 e 0.3 HEEEIAUT 3.0 EHT 1.0
g - ZKREIK 1.0 %,\
x H :‘:’
” e v =
* %
T %7
| A
Y% 2.5 BBHQ 0.5 e (
N #HQ 1.0 |
Bl § =
3 f+ > 7
$8 &
ZHEE TR ESBES ZAEE600G
2.0 WE?M 0.3 ESE 2.0
B % A
— 5
= 0.5
B CEEHATINE - FF: R



RERER/NBIRERE B $198

FRERMRETR

FEMG4EE 92,666 ¥ H 18533.2 HEESASH 8.1
B8 LH2H() S 1H3H() SE 1H4H(E) 5L LASH @) S 1H6H )
o | Al 1916(1881+3&35) A 1916(1881+%35) Al 1916(1881+35) Al 1916(1881+235) A 2305(2270+%35)
;; 50,226 &t 24,000 &t] 0 18,440 &t 0
Ey EER & Hbok AR Ey g e TE EokaE
1 bt BEK | HE | L | e it SR | | 4 | vm bt e dECIE CIED bt BURK | HE | Qa8 | o bt BUEK | HE | 4y
8KG
& BEKER
L H A5G 2400 252000 | SJE43KCH 28 KEFQ 100 T 90 HA 156
E#H4EB-Q 35 GES 24 HHET 72 FHEERKQ 50
= AREQ 25 Hi 4% 24 AEFEECINVINQ 30 HHQ 25
o s EERQ 15 e | iR 20 HEQ 50 e |ALZREQ 12
E & g 4LEEIQ 10 N |E#14EB-Q 20 ;i M A4k 2 4% |EHETEOK 2
®| A 2 [FEHQ 3 7 | (T HEQ 10 P A
1 3 B K Hs0 10 H
a0 H 600G 2
SR 210
HE#EELQ 138 14076 | pRisE 123 | 60 KEFQ 80 SE0) 120
4LEEEQ 15 675 | FHHICAS(EL 30 S| 60 LRyGED 21 egiee 40
FH{CAS 15 2025 T LT 85 4TEEIQ 10 G| 18
BEFRCAS 15 8250 PEEERZQ 20 (e 2 Uk | 4T 57Q 15
5] ES & i s
e Sk 8 [HEERK 1 &;‘ G| 18 ;
x| % 7 P s | PRIHOKOHL 2
% i &
S = s 5 pos
BN 0.5
Eig=ER 130 ABELR 130 EREEQ 145 HIRRER 130 AHETLR 130
L |E% 15 w | H4%% 15 " A 24 % 15 L |E% 15
- £ Ji * ol
%5 & W | &§146B-Q 10 % T
EH 05 * w |4LEEQ 10 - -
FF-Q 65 L E] 21 [iASES 20 REHQ 75
BRET 18 (=2 21 MR 6 SRR 20
e | ALEEEQ 10 TiK 112 B | 2 &
It fr o -
2 |5 s | “HD2SK (G 1 % E‘; TE1.2K 1
| B o 03 = D (7% 05 i
5 1t N N
zi zj
H FHEEEER) IINEHf 2400%55| 10| 24000 0 2305(3| 8| 18440
fii | | &HEG0K)
=5 e 85051 e P e E] R 8505 R
B ) 538 1% ERE)) 5 I R 5 Ias R 53 12 R 5 1
= () 08 1 ) 08 1 ) 1.2 fr W) 06 i R 13 1
S| B KR | # K1) 1 B | # SEGY(Y) 1 | IKEUR) | #& () 5
| & FREAEC) 22 B |& FEAED) 22 [ FEANED) 2 fn |& FEANED) 2 n |& TRAES 2 1
S () 24 1% () 22 I SHAE(R) 21 1A SHAS() 22 12 SHAS() 21 15
G 699K GaEnE 694K i 25k B 635AF gz 6k F
YA ER{FRE i RE




0 NRER/NE 11 B EE—EH F19H
8 1H9H(—) 8 1HI0H(™) 1H1TH(=) HE 1H12H@Y) HE 1H13H ()
. N2 38 N2 38 38 N3 38 N3 38
/;:J &5t 0 &t 0 ait] 0 a3t 0 &st] 0
L £ HKRER FE ERNE — Rz FE R T £ ERNE
A B B EKEH B #EK B B EKEH B HIEKEH B HEK
Zfak 50.0 YFE 4% 1.0 E=OI 3 TTH 3
o it
73 AN o
2 . ‘ 42
XA e 5 . Al
1
FRHRIK 1.0 7%?5@ 1.0 iy 0.3 - YEE % 1 " El 0.5
= X |&=(cas 1.0 | & |k 1 e 1
Bl |32 Sk [hsne 176 | Z AR 1 % ;
Z% % f-3 $7 &
N LAk 0.3 5 HF (V1% 0.5 % HIELK
T ft . G
w | it % %
l v ; ;
% {E 2 =
R 0.5 ’
B - FRBTHE - FE: R :



